Efficiency vs P,

0.2
. : : :
L0.18F i RERLEAEERRES RRREEELREED
> E : : :

S 016 i Prenneeeeepd AARERRRLREEE
o : : :

(&)
S0.14
o

0.12
F SO S —
0.08F ; :
0.06F
0.04F
0.02F

.................................................

.................................................

oJ..UG
2
x I e A A AR A ARG A G AR A S A
0.95f ==+~ LHAFAFHEHAFH A e
F ATH T :
- ha R

0.9

M
M”angle_step2_ttbar-phasel-newgeom
Mj@ase_réte ttbar-phasel-ne

it Ul- i_lldl SLE] ((Oar-prrast L=-TTewgeoTIT
MKFIT STopa. Tthar ﬁ“asel-new eom
wrg Rm
pixefCP neric_step2_ttbar-phasel-newgeom

= 0.2
o E oo
R R S S R S
2 F : : : : :

E e
o E : : : : :
R B L S
@ : : : :

O b AR S LI S
Y RN S R R
O e R
T R RN S T SIS R
0.04F -+ boop it --;{--

0.02F -1 -}
.0 ’{

r

Ratio

e R AR A RS

£t {111 111
0.9: : :
3 -2 -1 0 1 2 3

Efficiency vs ¢

o 0.1z - T T T
Y : : : : : : :
e CAR A A M
Q ] : : : : : :
e S
£0.07E bbb
o : : : : : : :

0.06F----1-- P P P S

YT S AT N

T O
4
Y
. T .
- I FALED S
[ 4+
W T .
- T
—
[ *
* &
— -d

Ratio

|
w)|
|
N
|
=
O F——F———-—-
-
N
w

TP @



	Contents
	Page 1


